" 1.;-"""‘;’"‘ ﬂﬁ
. ‘ « ‘et o
M\‘”%ﬁ S, i : SN
Sltelnstallatlon | Model MP 8742

Rev. 8/1/2011




SCOREBOARD SITE INSTALLATION INSTRUCTIONS

CAUTION: All American Scoreboards (AAS) recommends the sign be installed by a licensed contractor, and must meet all
local and national building codes.

NOTE: AAS RECOMMENDS USING A BOOM/FORKLIFT/CRANE OF SUITABLE SIZE TO USE IN INSTALLATION.
Unpacking/Pre-Installation

Dependent on the Model ordered, the All American Scoreboard unit comes crated with different items attached and/or
unattached and with different installation hardware.

I OPERATION OF THE UNIT WITH THE ELECTRICAL CIRCUITRY EXPOSED IS DANGEROUS. BE SURE ALL TOOLS AND

ANY OTHER MATERIALS ARE REMOVED FROM THE UNIT, AND ALL ACCESS COVERS ARE REPLACED AND CLOSED
BEFORE POWER IS TURNED ON.

NOTE: Take care uncrating as not to damage the units.
NOTE: Upon receipt, check for visible damage.

The shipment should include: If damage is found at the time of delivery,
* Installation instructions (this document). consignee must obtain an ‘Inspection of Bad
* Operator’s Manual. Order’ from the delivering carrier.

e LED Scoreboard Cabinet(s).

* Keypad Console. If damage is found after shipment has been

* Scoreboard Antenna (Radio System only) accepted, visit www.AllAmericanScoreboards.
« Junction Box (Hard-wire only) com for the damage claim procedure or

* Mounting Hardware (see parts list.) contact your sales rep.

- Installation Steps -
Prior to installation, set I-Beams in required concrete footing. Footing depth varies heavily by soil conditions,

climate and environmental factors. Depth of footing must comply with local ordinances. I-Beams must be level.

Step 1: Scoreboards are installed from the bottom up and connected by pins. Measure from the top of the I-Beams to the
appropriate length so the top of the scoreboard (or scoreboard + ad panels) will be flush with the top of the I-Beam.

Step 2: Screw Threaded Rods (ltem 7) into the Spring Nuts (Item 8) and tighten using 1/2” Nut and Lock Washer (ltems 9 and
10).

Step 3: Lift the cabinet and center between 2 appropriate poles. It is critical that the cabinet is level to ensure entire scoreboard,
ad panels, etc are also level.

Step 4: Install Spring Nuts with Threaded Rods by sliding in from the end or twist them CLOCKWISE into the mounting channels
on the back of the scoreboard (the spring nuts have a rounded edges for twisting clockwise only), approximate position on each
side of the I-beams (See Figure 2).

Step 5: After leveling and centering the scoreboard, secure to I-beams using the supplied 12” strut (Item 4) and 1/2” Flat Washer,
Lock Washer and Hex Nut (Figures 9,10,11), taking care not over tighten and strip or pull the spring nuts out, 50/60 FT/LB torque
max (See Figure 2, Detail A).

If no Ad Panels will be installed, skip to Step 7.

Step 6: If using an Advertiser Panel, using a 9/16” drill, drill through the 1-Beam to install the Mounting Angle (ltem 5) on to the
outside top of the I-Beam (see Figure 1). Attach a two piece Advertiser Panel using a 3/16” bar on top with 4-3/8” bolts, nuts and
washers and the sides with 2-3/8” bolts, nuts and washers.

Step 7: HARD-WIRE ONLY. Install the Junction Box at chosen location (i.e. press box or dug-out) and hook-up Power/Data Cable
to terminal block (see Figure 3 Detail-D).

Step 8: Attach the grounding wire to ground.

Step 9: Install the cable conduit and the power cut of switch box (recommended) onto the beam and run the power through the
conduit to the sign.

Step 10: HARD-WIRE ONLY. Install the cable conduit onto the beam and run the data cable from the junction box through the
conduit to the data box on the back of the scoreboard. Attach the data cable - Pin 5 on console (and scorer’s booth junction box)
will connect to the Blue and White wire, Pin 4 will connect to the Blue Wire.

Step 11: RADIO ONLY. Remove the RED button cover from the antenna mount located on the face of the board and screw on the
extra antenna.

Step 12: Attach the Board power line to the terminal block in the power supply assembly; Black to Line, White to Neutral, Green to
Ground. Reinstall cover.



ZALL AMERICAN

SCOREBOARDS |

Step 13: Reinstall board face into cabinet frame.

Step 24: Power up scoreboard and run set-up as described in Operator’s Manual.



*Ajuo 3dua1aja1 10} ik syudWAINSEIW ||y 193ulbud payijenb Aq pakanins aq ysnw says
*sap0d Buip|ing |EJ0] pUe [RUOIIRU }33W 0} SPIBU UOIIRPUNOY [BN)DY ‘U0 UOoIIRIISN||I 10} UMOYS UOl}ePUNOS :J1ON

*NOILLYNLIS INOINN HOV3I 404 @31VINDTVYD AT4IdOUd 39 1SN
$370d 40 439WNN ANV LN3W3DVY1d 370d ‘ONILOO4 40 H1d3d

SUOILPUO)) |I0S XIBYD 1§ L
9pO0) |10 }NSU0)

wnwiuly paiinbay 0 v

@ °

INIT

3avd9  goy

WOWININ aNo

GIANIWWODY

J0.L (SY3IHLO AQ
Q3IHSINGN )
HOLIMS
LD3INNODSIA

319vVSN4-NON
1HOIL H3LVM /i

|sued py +
«SCCEL

SNOILIONOD TI0S
HLIM AYVA S3ZIS
d31004 3134ONOD

‘ATINO 3DN3H343H HO4 JHV SLNIWIHNSYII ISTHL

5431004 OLNI

@3sN WLSAS ON3ILX3 SLHOIHdN

JUIMAYVYH NIHM
318¥D 104INOD

L~ LNANOD ¥IMOd

SYIHLO A9 GIHSINYNA
(0034 7) Wv3 1 THLS TVUNLINYLS

(31qedydde yy)
1ybiaH buifiep

‘(pa1ddns 1ou) sadey |sued py
21nd3s Aj1adoid 03 papaau aq
[IIM 31n315N.43s [eUOIHIPPY ‘310N
TINVd av

ap

- =MN©.OM

ZSLYLL) WSL9.6
Ato —‘NV :o \w F

:mN0.0m 7

OO

bunoo4 +
[Sued py +
JSCCEL




Figure 2: Mounting and Ad Panel Detail.

*DETAIL-B
2 PLACES

DETAIL-A
6 PLACES

—— AD PANEL
(IF APPLICABLE)

—— TOP SCOREBOARD PANEL

O

—— BOTTOM SCOREBOARD PANEL

THRU BOTTOM
OF ADD PANEL
ANDTOP OF

SCOREBOARD

AEAMERICAN

SCOREBOARDS ™

“L” MOUNTING ANGLES

LUMINATED
AD—PANEL
(IF USED)

DETAL - C —’\SCOREBOARD
A/R FOR LUMINATED AD—PANEL

ITEMNO. QTY. DESCRIPTION

1 1 Scoreboard

*2 1 Advertisers Panel *(if used)

3 2 I-Beam (quantity and size
required depends on local soil
conditions and wind calculations)

4 16 Slotted Strut Channel 12”

*5 2 Mounting Angle 2" X 4" X 2" LG

*6 1 Topside Advertisers Panel *(if
used)

7 8 Threaded Rod 1/2” - 13 X 12" LG

8 8 Unistrut Spring Nut 1/2” - 13

9 16 Hex Nut 1/2”-13

10 16 Lock Washer 1/2”

11 8 Flat Washer 1/2”

*12 4 Hex HD Bolt 1/2” X 1”

*13 4 Hex Nut 1/2” Machine

*14 7 PHD 3/16” X 1/2” Drill Screw
*15 4 Lock Washer 1/2”

*16 4 Flat Washer 1/2”

*17 6 Hex HD Bolt 1-1/2” LG

*18 6 Hex Nut 3/8”

*19 6 Lock Washer 3/8”

*20 6 Flat Washer 3/8”

*NOTE: Applies to the installation of Advertiser Panel only.

NOTE: Foundation shown for illustration only. Actual foundation
needs to meet national and local building codes.



Hardwire Scoreboard Wiring
With a Standard Junction Box

T

87654321
[
NERERE

Female RJ45 Connector

Male RJ45 Connector

JUNCTION
BOX
COVER

Ve
@h“ CAT5 Cab/el .’%-

| SCOREBOARD(S)

Back of 8000 Multi-Sport Console
(either connector)

2 u'é Z | Colors refer to AAS Supplied Cable
. © o T 2/HY Indoor = MP-41 Outdoor = MP-40
Green/Whjite 0 [G)
) @—-||RD <93
Blue 4@ @7 WH ahRe
Blue/Whjite DD GN
Green —@) )——BK
@ @ J‘l o o . . O
S MDD gy
THESE COLORSREFER | | @ @
TOCATS CABLE(5688).| | D ) | | oo /5\ |:||:|
NUMBERS REFER TO o © 4-CONDUCTOR i _
RJ45 CONNECTION. SHIELDED CABLE | RECEIVER BOARD IN SCOREBOARD
JUNCTION BOX

Wiring a Supplemental Display

With a Single Junction Box

JUNCTION
BOX

COVER
*SHIELD MAY BE
GROUNDED TO PLATE

UNDER COVER

CONN‘IE‘CTOR

DOWN TOGO

/I

Timer or
Additional
Scoreboards

BALL ON

QTR

E

PuT Lot

Scoreboard
—
- When wiring a scoreboard and a
Ez supplementary display (typically an
[ . L
& o @ & | Colors refer to AAS Supplied Cable é % ¥ additional scoreboard, delay of game
Green/WHite RD o 3|% & Indoor=MP-41 Outdoor = MP-40 ~ A5 timer or pitch counter) connect the
=D & | o N wires as shown.
@ Hw y SN
Blue/WHhite ) @——|GN
,@ @74 BK ) o o 4. . O
e . . S M D gy
@ @ J-l S M5 8y O O
THESE COLORSREFER | | @D @ HESE COLOR 5 . |:|
TO CATS CABLE (568B).| | () () | | Triest COLORS " |:||:| N -
NUMBERS REFER TO o (o) 4-CONDUCTOR 2l — RECEIVER BOARD IN AUXILIARY DISPLAY
RJ45 CONNECTION. SHIELDED CABLE (Typically a Delay of Game Timer or Second Scoreboard)
GUEST Hardwired Scoreboard may also be connected to a

Junction Box
Single Scoreboard Wiring
(Dual Box is Standard -
See Dual Wiring Diagram)

BALLON QTR

Radio Scoreboard using same method.



Hard Wire Setup / Hardwire Override Capable

Using a Dual Capable Junction Box

All radio scoreboards have the ability to be used as a hardwire. When installed properly, the radio on the scoreboard will turn off
when a console is plugged into the hardwire input. Unless proper wiring (Leads 3 & 6) is run to the RJ45 Terminal Box and
Junction Box, the radio will need to be removed from the scoreboard to connect via hard wire. To avoid this situation, two
additional wires are required to allow the hardwire data to override the radio signal (Leads 3 & 6).

The 8000 Series Console can plug directly into the scoreboard via a standard CAT5 cable and RJ45 connections. All American Score-
boards recommends using a junction box (either a standard single or a dual capable).Type of junction box and cable lengths will be
determined at point of sale.

Outdoor boards will require a water tight junction box. Data connections will be directly connected to the receiver board in
scoreboard. Data connection and AC power cannot run in same conduit.

J101 RJ45 O
Scoreboard 1+2
—NMTInON® 1D — Scoreboard 1
Scoreboard 1 | | Scoreboard 2 2 D + Scoreboard 2
gl 5| gl 8| £ 2 J102
J103 EEELEE 1 Scoreboards 18& 2
8 —— -HENER —5 1 2 + Scoreboards
7 — ° ) % GREEN / WHITE 3 2 5
6 ST 4 3 /scon:aomzns
5 BLUE / WHITE T- 4
4 BLUE T 5
GREEN / WHITE CREEN 6 6 25 Ft CAT 5 CABLE
3 BROWN/WHITE 7 I
2 — 7
BROWN 8
1 — 8
RJa5 J; RJ45
PN
@ SCBD 2 BROWN / WHITE
@ s : :
H O _ STANDARD WIRING H
@02 Sheen : (HARDWIRE ONLY) :
@ SCBD 1 St : . _ ADDITIONALWIRINGFOR &
SLUE H HARDWIRE OVERRIDE H
@ SCBD1 H (RADIO SCOREBOARDS WITH
e.[} SCBD 1 GREEN/WHITE H HARDWIRE OPTION) H
s : :
SCBD 2 e eemememameesmsmemmem—————

REQUIRES
DIODE GREEN / WHITE

Back of Console

4 Conductor Twisted Data Cable (Length Specified w/ Order)
4 Conductor Twisted Data Cable
(Length Specified w/ Order)
wl AX
=gl
g Bz . THESE COLORS 2 Ha3
NS g EzJ REFERTO AAS wl dde
" $Ys € Fad 4-CONDUCTOR
g 2 49 SHIELDED CABLE
n d \\\k
D[~ . 1. . D[~ - 1.t L. D[~ . 1. .
S M S g9 3d O S M S g9 3Y O S M5 gy O
[¢) o ml . o)
i3 RECEIVER BOARD IN TIMER 3
se A b s |l -
RECEIVER BOARD IN SCOREBOARD RECEIVER BOARD IN SCOREBOARD

;

OME GUEST
DO

Timer or Additional Scoreboard DOWN TOGO BALLON QTR

Scoreboard 1 Scoreboard 2 or Auxilarary Board
*Actual scoreboard configurations may differ. (Scoreboard, Timer, Pitch Count, etc.)



| OUTPUTS |
O Omm . 1.First Half
Q== N | 2.2nd Half |
Omm !
O : DC POS: Red (+) |
I O : |  DCNEG:Black ()
Reserved for Electronic Team Names 0 — T |
Q= |
Qmum |
0 —-— m |
to Horn relay O 0 f—
Indicator Driver Board | |
ELO1031P
§ _ — — —
o lL.) 2= o Controller (Decoder) Board 16 OUTPUTS |
o 0 o;'@ FLOT0S2P ] 12 = | 1.Timer
PIIA o [ ] 15 [EE 2.Home Score
T Ly A (I e~ B | 3' Guest S |
— 14 .Guest Score
Hardwire DATA O I:l = ~ B = 4.Possession Ind
o (D] :
Green (6%) . g E © B 13 [EE] | |
Blue/White (5%) = ® sEEl—
Blue (4%) W I === 8 ® ¢ (+) Brown |
Green/White (3%) ® 7 EE
= ] 3 = | (-) Blue
6
*Numbers and ::f:i;‘;l::s Radio 0 o 2 | |
lor rr nd
e | S il e =
ELO1067P |
oo |

8742 Soccer Controller Plate Scoreboard Type: 400

P1.

Power Supply Outputs (Full Brightness & Full Digits): P1.1%3.26A P1.2%2.60A P1.3=2.83A P1.4=283A

“C"refers to controller board output. If Indicators are used, C4 data will go to the Indicator Driver Board and then to the digit(s).

s = DATA  11amami = 10.5VDC POWER 115VAC/60Hz - 3.0 Amps

rev.7.29.11



